MAC 1114 Chapter 3 Extra Problems Barnett
1. (No Calculator) Evaluate exactly:  sin 4л/3.

2. (No Calculator) Sketch a graph of y = – 4+5 cos (3x) over at least one period.  Label minimum and maximum points on the graph by their coordinates.

3. If the graph pictured below has an equation of the form y = A sin (B x), find A and B.
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Answer: A= -6, B= 1/2  

4. (No Calculator) Sketch the graph cos (2 x+л/3) for 0≤x≤3л.  Label zeros, minimum and maximum points on the graph by their coordinates.

5. Use your calculator to graph y = 
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sin (x/2) +2 cos (x/2), and find an equation of the form y = A sin (Bx+C). Round to 3 decimal places.

Answer: y = 3 sin (x/2+. 730)

6. The graph pictured below has an equation of the form y = cos (Bx+C).  Find B and C.
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Answer: B =3, C =-л/4

7. (No Calculator) Sketch the graph of y = cot (лx-л/4) over at least one period.
8.  (No Calculator) List the period and phase shift for
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. Sketch the graph.
9. Complete the Following Table
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10. Find the exact values for each trig function. Draw the reference triangle. Check your answers using your calculator.

a) sin (-5(/6) =

b) cos (-7π/2) =

c)   tan(7π/3) =

d) cos (2(/3) =


e) tan (7(/4) =


f) tan (-3(/2) =

g) sec (2() =


h) cot (-5(/3)=


i) csc(7π/6)=
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